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SUPERVISOR’S SIGN.: _
UNIVERSITY OF MUMBATI’S
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DIPLOMA IN PAINT APPLICATION TECHNOLOGY (DPAT)

SECOND ROUND
ENTRANCE EXAM
DATE: 29-JUL-16 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOTE: ANSWER ALL THE QUESTIONS
Q1 : Define the following: [20 MARKS]

1y

2)

3)

4)

3)

6)

7)

8)

9)

Isothermal process is

Atomic number is

Galvanisation is

Rusting is

Qils are




Q.2] Circle Your choice a,b,c,or d. [20 marks]

1) Buffer solution is one which has
a) Reserve acidity b) Reserve basicity
c) ph=7 d) Reserve acidity and Reserve basicity
2)  The ph value of a solution is zero, the solution is,
a) A strong acid b) A very weak acid
¢) neutral d) A base
3)  If vapour pressure of water at 298 k in 18 mm Hg, its vapour pressure at 373 k would be
a) 760 mm b) 76 mm
c) 760 cm ; d) 18 mm
4)  When gas expands in vacuum, the work done by the gas is
a) Maximum b) Zero
c) Less than zero d) Greater than zero

5) pH of blood is maintained constant by mechanism of

a) Common ion effect b) Buffer
C) Solubility d) All of these
6)  Brass consists of
a) Znandcu b) Zn & Sn
¢) Cu,Sn&Zn d) Zn,Ni& Sn
7)  Lower number of alcohols
a) Are insoluble in water b) Are soluble in water
c) Are insoluble in acetaldehyde d) Are insoluble in petrol
"8)  Chemically soap is
a) A base b) Anacid
c) Asalt d) A fat
9)  Ether free from moisture and alcohol is known as
a) Dry ether b) Absolute ether
¢) Pure ether d) Spirit ether
10) Fats contain higher percentage of
a) Unsaturated fatty acids b) Saturated fatty acids
¢) Monohydric alcohols d) Dihydric alcohols
11)  Which of the following number is the least common multiple of the numbers 2, 3, 4 and 5
a) 24 b) 30
c) 40 d) 60

12) If the attitude of a triangle increases by 5% and the base of the triangle increases by 7%, by what
percent the area of the triangle increases?

a) 3.33% b) 6%

c) 12% d) 12.35%
13) Ifthe %2 + Y4 =x/15, then x is,

a) 11.25 b) 12

C) 13.75 d) 14

14) If the area of a triangle with base S is equal to the area of a square with ride S, then the attitude of the
triangle is

a) S b) 2S
c) 3S d) 4S
15)  Of the number 7,9, 11, 13, 29 and 33 how many are prime numbers
a) None b) 4
c) S d) All
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18)

19)

20)

Q I

QIV

QV

If 25 men can unload a truck in 1 hour 30 minutes, how long should it take 15 men to unload the truck |

a) 2hrs b) 2 Y hrs
c) 2 1/3hrs d) 2%hrs
If the side of a square increases by 30%, then its area is increased by
a) 9% b) 60%
c) 69% d) 130%
If a rectangle has length ‘L’ and the breadth is one half of the length, then the area of the rectangle is,
a) L? b) % L?
c) Y%L? d) 2L

If a worker can pack 1/6 of a carton of canned food in 15 minutes and there are 40 workers in a
factory, How many carton should be packed in the factory in 1 2/3 hours

a) 402/9 , b) 434/9

c) 444/9 d) 452/3

The sum of the 5 consecutive integers is 35. How many of the 5 consecutive integers are prime
numbers.

a) 1 b) 2

c) 3 d) 4

Expand the following abbreviations [2 Marks]
a) MBA

b) IPS

¢) LBW

d) BHMS

What is the Business of the following Organizations [2 Marks]
a) AKZO Noble

b) ICI (Imperial chemical industries)

¢) Godrej & Boyce

d) Amazon.in

What is the Atomic number of [3 marks]

a) Hydrogen

b) Calcium

¢) Nickel

. d) Potassium

e) Sulphur

f) Carbon

3/4



Q VI Write the molecular Formula of [3 Marks]
a) Hydrochloric acid

b) Sodium Carbonate

¢) Ferrous Sulphate

d) Carbon tetra chloride

e) Acetone

f) Butyl alcohol
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SEAT NO.: SUPERVISOR’S SIGN.:

UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNOLOGY
(DPAT)
ENTRANCE EXAM
DATE: 18-JUL-16 TIME : 11.00AM TO 12.00 NOON MARKS : 50

NOTE: ANSWER ALL THE QUESTIONS
Q1 : Define the following: [20 MARKS]
1) Buffer Solution is s - -

2) 0.IN NaOH means - - -

3) Tranquillizers are - — - --

4) Adiabatic reaction iS ----------===-=-rmmmm e .

5) Supplementary angles are ------ —

6) The third law of Thermodynamics states

7) Heat of reaction is —— —

8) POH 18 ~mrmmmm e e

9) Ionisation i ---=---=-mm=memmmeme e o




Q2]
1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Circle Your choice a,b,c,or d. [20 marks]

Cane Sugar on hydrolysis gives

a) glucose and maltose b) Glucose and Lactose
¢) Glucose and fructose d) only glucose
‘Solution Of Phenol is used as
a) an antibiotic b) an analgesic
¢) an antioxidant d) adisinfectant
If M and m are the molarity and molality of the given aqueous solution, thus
a) M=m b) M<m
¢) M>m “ d) M<m
If an Acid is diluted
a) pH increases b) pH decreases
¢) No change occurs d) Can vary depending on the acid
Protons Were discovered by
a) Chadwick b) Goldstein
C) Rutherford d) Bohr
Zinc is Mainly extracted from
a) Willinite b) Calamine
¢) Zinc Blende d) Pyrolurite

Galvanis ation Process is
a) Deposition of Zinc on iron b) Deposition of Nickel on iron
¢) Deposition of aluminum oniron d) Deposition of Copper on iron

Chloroform is readily soluble in

a) ether b) acetone

C) water d) both ina &b
Butter Contains

a) lactic acid b) Butyric acid

¢) citric acid d) acetic acid
Fats are esters of

a) fatty acid b) Glycerol

c) glyceride d) Botha &b

An angle of x degrees has the property that of its Complement is equal to 1/6 of its supplement where
X 18

a) 30 b) 60

c) 63 d) 72

It takes 50 workers 4 hours to dig a sewer the same how long should it take 30 workers today the
same sewer

a) 5 hrs 12 minutes b) 6 hrs 12 minutes

¢) 6 hrs 20 minutes d) 6 hrs 40 minutes

If the length of a Rectangle is increased by the 11% and the width remains the same than the area of
rectangle is increased by

a) 11% b) 21%
C) 110% d) 121%
The angles of a triangle are in the ratio 2:3:4:, the largest angle in the triangle is
a) 40° by 70°
c) 75° d) 80°
If the ratio of the radic of two circles is 3 to 2, then the ratio of the areas of the two circles is
a) 3to4 b) 4t09
c) 9to4 d) 3t02
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16)  If the product of two numbers is 5, and one of the numbers is 3/2 , then the sum of two numbers is
o) 51 4 4%
17) If x/y=2, then y3/>(2
a) 1/4 b) 172
c) 2 d 4
18) If it takes 12 Workers working independently 3 hours to make 500 boxes, how many minutes should
it take for 16 workers to make 300 boxes.
a) 72 b) 81
c 98 d) 60
19) The area of a then how many rectangular field is 1000 sq.meters Meters is the perimeter of if the the,
length of the field is y meters field
a) 2y+1000 b) y+1000/y
c) 2y+1000/y d) 2y+2000/y
20) Which of the following Integers has the most divisors
a) 88 b) 91
c) 95 d) 99
Q Il Expand the following abbreviations [2 Marks]
a) IPL v
b) IAS
¢) WHO
d) M.Sc.
Q IV Whatis the Business of the following Organisation [2 Marks]
a) Kansai Nerolac
b) Blue Dart
¢) Air India
d) Larsen and Toubro
QV Whatis the Atomic number of [3 marks]
a) Sodium

b) Magnesium

¢) Helium

d) Iron

e) Oxygen

f) Cobalt




Q VI Write the molecular Formula of [3 Marks]
a) Phosphoric acid

b) Hydrogen peroxide

c) Potassium Permanganate

d) Ethyl alcohol

e) Methane

f) Acetic acid
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UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT

SEAT NQO. :

DIPLOMA IN PAINT APPLICATION TECHNOLOGY

_DATE: 17-AUG-15

(DPAT)
ENTRANCE EXAM
THIRD ROUND
TIME : 11.00AM TO 12.00 NOON

MARKS : 50

NOTE: 1) DO NOT USE YOUR MOBILE IN THE EXAMINATION HALL

2) ANSWER ALL QUESTIONS

QL DEFINE THE FOLLOWING

1) Boiling point of a water is -

2)

3)

4)

0)

7)

(20 marks)

Isothermal process is

Normality is

Atomic mass number is

L[5



G} Thermochemistry ig —oeece

QIL CIRCLE YOUR CHOICE a, b, ¢, or d

marks)

[. Proton were discovered by

a) Chadwick b) Goldstein
¢) Rutherford d) Bohr

2. Brass consists of

a) Znand Cu b) Zn and Sn

¢) Cu,Snand Zn d)Zn, Niand Sn
3. Chloromyactin is effective in the treatment of
a) Cholera
b) Typhoid
c) Tuberculosisv
d) Malaria
4. Molality is expressed
a) Litre/mole b) mole/litre
¢) moles/kg d) grams/litre
5. pH+pOH s,
a)7 b)0
c) 10 d) 14
0. Formic acid is obtained from
a) Vincgar b) Red ants
¢) Butter d) Oil
7. The substance which can act both as an antiseptic and disinfectant is

a) aspirin b) chloroxylenol ¢) Bethional d) Phenol

20
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8. When Nacl is added 10 water
a) freezing point is raised by boiling point is depressed

¢} freezing point does not change dy boiling point is raised

9 pH ot blood is maintained constant byv mechanismy of

a) Common ion effect by Buffer
¢) Solubility dy ali of these
10. Cane sugar on hydrolysis gives
a) glucose and maltose b) glucose and Lactose
¢) glucose and fructose ) only glucose
FL What is ratio of 2/3 to 5/4
a) 10/12 b) 8/15
¢) 20/6 dy2/7
12. Of the numbers 7.9.11.13.29.33 how many are prime numbers
a) none b) 4 c)s d) all
I3.25 men can unloaded a truck in | hour and 30 minutes, how long should it take for 15
men o unload the truck
a) 2 hour b) 2.3 hours
¢) 2.5 hours d)3 hours

14. Which of the following numbers is the least common multiple of the numbers. -2.3,4&5

a) 24 - b) 30
¢) 40 d) 60
I5. of 1/342/7=X/42, where X is
a) 13 b) 21
¢) 24.5 d) 26

16. If. the radius of a sphere is increased by a factor of 2. then the volume is increased by a
factor of

a)?2 b) 4

c)6 d) 8

[7. The area of a rectangular field is 1000 square yards , if the length of the field is “y" yards
- then . how many vards in the parameter of the field

a) 2y+1000 b) 2y+2000/y

¢) 1000 d) 2y 10007y

3/¢



811 the altitude of the triangle increases by 3% and the base of the triangle increases by

/%a.by what present the area of the triangle increases

i ‘ *, ‘sU o ’E‘; {3'\,
)8y dy 12,3594

P9 1 the number of two digits are reversed. it becomes 14 greater than the number find the
number if the sum of the digitis equal o 4

%

ajy 31 b

~—

¢) 13 d) 40
20. A number is as much greater them 17, as itis less than 57. find the number
a) 32 b) 37

c) d) 44

o

Q IIL. EXPAND THE FOLLOWING ABBREVIATIONS (02 marks)

1. IPS

2. MBA
3. MSc
4. UNO

QIV. WHAT IS THE BUSINESS OF THE FOLLOWING ORGANISATIONS (02
marks)

I. LARSEN AND TOUBRO
ASHOK LEYLAND

3. BLUE DART

4. KANSAI NEROLAC

(B

QV. WHAT IS THE ATOMIC NUMBER OF (03 marks)

. Hydrogen
2. Nitrogen

3. Oxygen
4. Aluminium
5. Sodium

6. Helium



QVL WRITE THE MOLECUL AR FORMULA OF

LA

6.

Sodium hyvdroxide
Phosphoric acid

Eibvl alcohal

Ferric phosphate
Potassium permanganate

Calcium carbonate

{43 marks)
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SEAT NQO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT

~ (DPAT)
ENTRANCE EXAM

DATE: 13-Jul-15 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOTE: ANSWER ALL THE QUESTIONS
Q1] Define the following : (20 Marks>
1) Solution is ' -

2) Thermochemistry is

3) Disinfectants are

4). Reversible process is

5) Antioxidants are

'6) Endothermic reaction is

7) Molality is

8) Complementary angles are

8) The First law of Thermodynamics states

10) Specific gravity is

QI] Circle your choice a,b,c or d. | (20 Marks)
1) During rusting of iron it gets, |

a) oxidised b} reduced ¢) oxidised and hydrated
d) hydrated
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2)

S)

7)

if the Hydrogen ion conce
pH will be,

a) increased by one b) decreased by one
¢) remains unchanged d) increased by two

ntration of an acid 1s decreased ten times. its

Formic Acid is obtained from,

a) vinegar " b) red ants

C) butter ’ d) oil

Which of the following is not a Thermodynamic property
a) time b) temperature

C) pressure d) volume

Solution of Phenol is used as,
a)- an antibiotic b) an analgesic
C) an antioxidant d) a disinfectant

The substance obtained at the cathode on electrolysis of NaOH solution
is’ :

a) H20 b) Na

c) H2 d) 02

Galvanisation process is,
a) deposition of Zinc oniron b) deposition of Aluminium on iron
c) deposition of Nickel on iron d) deposition of copper on iron.

The number of neutrons in the nucleus of an atom is represented by,
a) A--Z b) Z--A
C) A d) Z

Which of the following is an example of a homogeneous system,
a) ice in contact with water b) chiorine, water and chloroform
c). a mixture of oxygen and nitrogen gas  d) all of these

2/4



10} Sleep nducing drug is called,
a) anslgesic by tranguilizer
c) antibiotic d) antiseptic

11) 0.03 times 0.05is

a) 15% b) 1.5%

c) 0.15% d) 0.015%
12) x+y=4andx-y=3thehx+2yis.

a) 0.5 ’ b) 3.5

c) 4 d) 45

13) If the ratio of the ares of two squares is 2 : 1, then the ratio of the
perimeters of the squares is,
a) 1:2 by 1J2°
cYyZ 1 : d) 2:1

14) If 15 men working independently and at the same rate can manufacture
27 baskets in an hour, how many baskets would 45 men working
independently and at the same rate manufacture in 40 minutes,

a) 27 b) 40
~Cc) 54 d) 81
15) The area of a square increases by 69%, then the side of the square
increases by,
a) 13% b) 30%
c) 39% d) 69%
16) The next number in the geometric progression, 5, 10, 20 ...... IS,
a) 25 b) 30
c) 40 d) 50
17) The angles of a triangle are inthe ratio 1 : 2 - 2, then the triangle is,
a) isosceles b) obtuse
c) equilateral d) rtght triangle

-18) .The addition of a positive number with its reciprocal is twice of their
difference , the number is,
a2~ b) 1/f
W3~ d) 1/8°

19) If the triangle has a base B, and the altitude of the triangle is twice
the base, then the area of the triangle is,
a) 1/2AB b) AB
c) B* D) 2B% 314



20} If the product of 3 consecutive
smaller integers is,
a) 11 by 12
c) 13 ' d) 18

integers égz“%@, then the sum of two

a) GICED.
b) ILO
c) MBA
d) PTO

Q 1] Expand the following abbreviations. (2 Marks)

Q IV]What is the business of the following organisations (2 Marks)
a) Jenson Nicholson
b) Ashok Leyland
c) Amazon.com
d) Mazagaon Docks

Q VIWnat is the atomic number of, (3 Marks)
) Nitrogen
) Potassium
'¢) Chromium
) Manganese
) Carbon
f)’ Helium

Q V1] Write the molecular formula of (3 Marks)
a) Sulphuric Acid |
b) Sodium Thiosulphate
c) Potassium Dichromate
d) Ferric Phosphate
e) Acetone
f) Butyl Alcohol

4 /4



SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNOLOGY
(DPAT)
ENTRANCE EXAM
DE oD RounD

DATE: 93-Aug <015 PIME : 11.00AM TO 12.00 NOON - MARKS : 50

NB: ANSWER ALL QUESTIONS

QL DEFINE THE FOLLOWING - (20 marks)

1) Buffer solution is

2) Polymerization is

3) Antibiotics are

4) Neutron number is x

5) Irreversible process is

6) Ionisation is

7) Exothermic reaction is

8) Supplementary angles are X

9) Pythagoras theorem states ‘ 5

1/s



16) A EFg i§ —ommmmmesmrmrmemeeeceee

QIL CIRCLE YOUR CHOICE a,b, ¢, or d (20 marks)

1. Molarity is expressed as,

a) Litres/mole b) moles/litre
¢) motes’kg  d) grams/litre

2. When a solution contains equal concentration of hydrogen ions and hydroxyl ions, its P4

will be around,

a) 14 b) 0

c) 10 d)y7
3. Thermodynamics is concerned with,

a) only the initial state of the system

b) only the final state of the system ' .
c) only the time taken by the system

d) both, the initial and final state of the system
4, Fat and oils are the triesters of glycerol with,

a) amino acids, b) fatty acids

c) mineral acids d) glucose
5. If the PH value of a solution is zero, then the solution is,

a) a strong acid b) a very weak acid

¢) neutral d) a base

6. Bronze consists of,

a) Zn and Cu b) Zn and Sn

¢) Cu, Sn and Zn d) Zn, Si and Sn ' *
7. Formalin is an aqueous solution of,
a) methylformate b) formic acid

c)\ formaldehyde d) potassium formate

zZ/5



8. Which of the following is not a vegetable fiber
a) hemp by jute
¢} cotton d) keratin
9. Which of the following is not sugar,
a) sucrose  b) starch
c) fructose d) glucose
10. A chemical substance, which, reduces the temperature of the body in fever is,
a) anti- inflammatory b) pyretic
¢) anti-pyretic d) antiseptic

11. Which of the following numbers is closest to zero,

a) (1-0.9)* b) 1- (0.9)*
¢) 0.09 d) (0.09)°
12.2/5 + 1/3 =x/30, where X is, | '
a) 7 b) 11
c) 16 ‘ d) 22
13. A \car wash can wash 8 cars in 18 minutes. At this rate, how many cars can the car wash wash
in 3 hours. 3
a) 13 b) 40.5
c) 80 d) 125

14, How many squares with sides % inch long are needed to convert a rectangle which is 6 feet

long and 4 feet wide.

a) 96 b) 3456
c) 13824 d) 14266

15. The next number in the arithmetical progression, 5, 11,17, ......... ‘.,is
a) 18 b) 22
c)23 d) 28

16. Successive discounts of 20 % and 15% are equal to a single discount of
a) 32% b) 34%

c)35% d) 36%



17. THe sum of 5 consecutive integers is 25, How many of the 5 consecutive integers are prime

numbers.
a2 by 3
ey b dy 4
18. The product of two numbers is 5, and one of the numbers is 3/2, then the sum of the two
numbers is k
a)4 1/3 b)4 2/3
c)45/6 d)51/6

19. If the area of a triangle with base S, is equal to the area ofa square ‘of side S, then the altitud:

of the triangle 1s

a) S b) 2S
¢)3S d) 4S
20. If the side of a sqﬁare increases by 40% then the area of the square increases by
a) 16% b) 40%
c) 96% d) 116%

Q III. EXPAND THE FOLLOWING ABBREVIATIONS (02 marks)

1. UGDPAT -
2. IAS -
3. WHO -
4. TOI -
Q IV. WHAT IS THE BUSINESS OF THE FOLLOWING ORGANISATIONS (02 marksg%

1. BlueDart -

2. Godrej and Boyce Ltd -
3. Akzo Nobel -

4, Jindal -

/5



QV. WHAT IS THE ATOMIC NUMBER OF (03 marks)

1. Sulphur
2. Calcium -

3. Oxygen —

4, Lead -~

5. Phosphorous -
6.,

Magnesium  _
QVI WRITE THE MOLECULAR FORMULA OF (03 marks)

1. Lead Phosphate —

Water -
Benzene -
Hydrogen Peroxide -

Nitric acid

S i

Sodium Carbonate -~

5/5



; . v SEAT NO. -

UNIVERSITY OF MUMBAI

GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION

DIPLOMA IN PAINT APPLICAT ION TECHNOLOGY (DPAT)

NOTE :- ANSWER ALL THE QUESTIONS.

Q.1] Define the following. ' ' ‘ ' | [20 marks]

1) Normality is

2) Freezing point of a liquid is

3) Isothermal process is

4) pOHis

5) Thermochemistry is

6) Antacid is

7) Atomic mass number is

8) Galvanisation is

9) Viscosity is

10) Density is




Q.2] Circle your choice A,B,.C,orD " * i : [20marksy

1) Rate of reaction depends on,
ay Concentration of reactants

b) Temperature

c) Catalyst

dy Concentration, Temperature and Catalyst

2) Protons were discovered by,
a) Chadwick
by Goldstein
¢) Rutherford
d) Bohr

3) pH of blood is maintained constant by mechanism of
a) Common ion effect
b) Buffer
c) Solubility
d) All of them

4) Thermodynamics is concerned with,
a) Only the initial state of the system
b) Only the final state of the system
¢) Only the time taken by the system
d) Both the initial and final state of the system

5) Molality is expressed as,
a) Litres / mole
b) Moles/ litre
¢) Moles/kg
d) Grams/ litre

6) Which of the following is a natural fibre,
a) Rayon
b) Jute
c) Terylene
d) Nylon

7) The instrument used to measure an optical rotation of a compound is,
a) Potentiometer
b) Polarimeter
c¢) Polarograph
d) Calorimeter

8) Chloroform is readily soluble in,
a) Ether
b) Acetone
c) Water
d) BothA &B

9) Cane sugar on hydrolysis gives,
a) Glucose and maltose
b) Glucose and lactose
¢) Glucose and fructose
d) Only glucose



10) Soap is,
a) A sodium salt of an alcohol
b) A potassium salt of an ester
¢} A sodium salt of glycerin
d) A sodium salt of higher fatty acids

11) If'a worker can pack 1/6 of a carton of canned food in 15 minutes and there are 40 workers in the
factory, how many catons will be packed in the factory in 1 2/3 hours;
a) 33
by 43 apm
c) 44 4
d) 4523

12)If the sum of 5 consecutive integers is 35, How many of these five consecutive integers are prime

numbers;
a) 1
b) 2
c) 3
d) 4

13) If the operation * is defined by *a= a’~ 2, then * (*5) 1s,
a) 527
b) 529
c) 621
d) 623

I4)If Y/X=1/3 and X +2Y =10, then X is,
a) 3
b) 4
c) 5
d) 6

15) The area of a rectangular field is 1000 square meters. If the length of the field is Y meters, then how
many meters is the perimeter of the field.
a) Y+ 1000/Y
b) 2Y + 1000
¢) 2Y +1000/Y
d) 2Y +2000/Y

16) Which of the following integers has the most divisors,
a) 88
b) 91
c) 95
d) 99

17) What is the next number in the geometric progression 4, 12, 36 ?
a) 60
b) 72
c) 108
d) 144

18) If an angle of X degrees has the property that its complement is equal to 1/6 of its supplement, where
X 1s, '
a) 30
b) 60
c) 63
d 72



Q3]

Q4]

Q5]

Q.6]

19)If the attitude of a triangle increases by 5 % and the base of the triangle increases by 7 % , by what
percent the area of the triangle increases.
a) 333%
by 6%
c) 18%
dy 1235 %

20) The angles of a triangle are in the ratio 2 : 3 : 4, then the largest angle in the Triangle is
a) 40°
by 70°
cy 75°
d) 80°

Expand the following abbreviations. [02 marks]

1) UGDPAT
2) BHMS
3) IAS

4) TOI

What §s the business of the following Organisations. [02 marks]

1) Amazon.com

2) Akzo Nobel

3) Larsen and Toubro
4) TISCO

What is the atomic number of [03 marks]

1) Oxygen
2) Sodium
3) Zinc

4) Carbon
5) Tron
6) Nickel

Write the molecular formula of [03 marks]

1) Potassium Permanganate
2) Hydrogen peroxide

3) PhospHoric acid

4) Chloroform

5) Sodium Chloride

6) Aluminum Sulphate

s ok sk ok sk sk koskok sk ook kR skokOR sk kot sk sk skokokok skskokckorokok



¢

UNIVERSITY OF MUMBAI
SARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
| ENTRANCE EXAMINATION
DIPLOMA IN PAINT APPLICATION ’!‘ECHNGLO?Y (DPAT)

SECONDROUND  (J G DPA T

CDATE: [ /2014 _ TIME:11.00 AMTO 1200 NOON  MARKS:50

NOTE - ANSWER ALL QUESTIONS.

Q1] Define the following, : ‘ : < [20 marks]

I) Neutralisation is

2) Boiling point of a liquid is

3) Exothermic reaction is

4) pHis

5) Thermodynamics is

6) Analgesics are

7) Atomic number is

8) Electrolysis is

9) Adiabatic process is

Q.2}  Circle your choice A,B,C or . [20 marks]

1) Brass consists of
a) Zn & Cu
b) 7Zn & Sn

d) Zn,Ni& Sn

2) Ifanacid is dilute
a) pH increases
by pH decreases
¢) No change occurs
d) Can vary depending on the acid



3) Buffer solution 1s one Which bas,
a) Reserve acidity
b) Reserve basicity
c) pH=7
d) Reserve acidity and reserve basicity

. e 7 [

e

4y Evaparation of sweattfrom human body 1s,

) An exothermic process
by An endothermic process
¢) A spontaneous process

d) An adiabatic process

The important and necessary blood additives are
a) Antibiotics

b) Analgesic compounds

¢) Antacids

d) Antioxidants

WAl
p—_

6) Silk1s,
a) An artificial fibre
b) Vegetable fibre
¢) A regenerative fibre
d) An animal fibre

7) Phenolis,
a) Acidic in nature
b) Neutral in nature
¢) Basic in nature
d) Amphoteric in nature

8) Butter contains,
a) Lactic acid
b) Butyric acid
¢) Citricacid
d) Acetic acid

9) Chemically soap 1S,
a) A base
b) Anacid
c) Asalt
d) A fat

10) Lower members of alcohol are,
a) Insoluble in water ' R .
by Soluble in water
¢) Ingelublen acetaldehyde

d) Insoluble in petrol

1 1) 1f the product of 2 numbers is 5 and one of the qumbers js 3/2, then the sum of the two numbers 1s

ay 4 13
by 4 273
¢y 4 50
dy 5 16

( )
i
‘,'/



12) If the lengths of the two sides of a right triangle adjacent to the right angle are 8 and 15 respectively, then the
length of the side opposite the right angle is
a) J258
by 158
¢y 16

dy 17

13) If the product of 3 consecutive integers is 210, then the sum of the two smaller integers is,
ay 11
by 12
¢y 13
dy 18
14) If the radius of a sphere is increased by a factor of 3, then the volume of the sphere is increased by a factor of
a) 4
b) &
c) 16
dy 27

15) If it takes 12 workers, working independently 3 hours to make 500 boxes, how many meriutes should it take
for 16 workers to make 300 boxes;
a)y 60
b) 72
c) 81
d) 98

16)If X+ Y =5and 2X +Y =12, then 3X + Y is,
a) 11
b) 13
c) 17
d) 19

17) If Y2 +1/4 = X/15, then X is
a) 10
b) 11.25
cy 12
d) 13.75

18) If the length of a rectangle is increased by 11 % and the width remains the same then the area of the rectangle
is increased by
a) 11%
b) 21 %
c)y 110%
d) 111%

19) If the area of the triangle with base S, is equal to the area of a square with side S, then the altitude of the
triangle is,
ay S
by 28
c) 38
dy 4S

.20) If the numbers 7,9,11, 13, 29, 33 how many are prime numbers,
a) None ’
by 4
c) 5
dy All



Q3]

Q5]

Q.6]

Expand the following abbreviations.

1
)
3)

4)

What 1s the business of the following Organisations.

51)

2)
3)
4)

WHO
MBA
Ps
C.C

Flipkart ‘
Kansai Nerolac
Ashok Leyland
LIC of India

What is the atomic number of

D
2)
3)
4)
3)
6)

Hydrogen
Potassium
Copper
Calcium
Helium
Magnesium

Write the molecular formula of :

D
2)
3)
4)
3)
6)

Suphuric acid

Ethyl alcohol

Sodium Thiosuphate
Sodium Carbonate
Potassium Dichromate
Ferric phosphate

A sk ok sk ok sk sk sk ook ok ok ok ok ok ok ok ok sk ok sk kokokok sk ok ok ok ke skok
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SEAT NO.

DP AT L

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CARFER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION
DIPLOMA IN PAINT APPLICATION TECHNOLOGY (DPAT)

THIRD ROUND
DATE : 22 /07/2014 TIME : 11.00 AM TO 12.00 NOON MARKS :
NOTE:- Answer all the quéstioﬁs. | 4 | | (20 Marks)

Q-\1 Define the following

1. Solution is

2. Dissociation is

3.  Molality is

4. Buffer solution is

5. Disinfectants are

6. A reversible process is

7. Jonization is

8. Supplementary anglers are

9. Litmus paper is used to check

10. Atomic mass number is




.2 Circle your choice a, b, c or d (20 mark.

1y If the pH value of a solution in zero, the solution is

a) Strong acid b) a very weak acid
¢) Neutral d) a base

2) The number of neutrons in the nucleus of an atom is represented by

a) A-Z b)yZ—-A
c) A d)yZ

3) Chloromycetin is effective in the treatment of

a) Cholera b) Typhoid
c) Tuberculosis d) Malaria

4) pH + pOH is

a) 7 b) Zero
c) 10 : - d) 14

5) Which of the following is not a thermodynamic property

a) Time b) Temperature
c) Pressure d) Volume

6) Solution of phenol is used as

a) An antiseptic o b) An analgesic
¢) An antioxidant d) A disinfectant

~7) During rusting of iron it gets

a) Oxidant b) Reduced
¢) Oxidised and hydrated _ d) Hydrated

8) Area of a circle of radius 10 cms is

a) 348 cm’> . b)3sdoem’
¢) 314 cm’ d) 444 cm’



'9) A number is as much greater than 17 as it is less then 57, Find the number

a) 36 by 37
c) 40 d) 44

10) ¥ th of a number is equal to 4/3 rd of another number. What 1s the ratio between
q « .

these
a) 7:12 : : b)9 :16
c) 16:12 d)6:8

11) Ifthe number of two digits is reversed it becomes 18 greater than the number, find the
number if the sum of the digits is 4.

a) 31 b) 22
c) 13 d) 40

12) 0.03 times 0.05 is

a) 15 % b) 1.5 %
c) 0.15% . d) 0.015%

13) A triangle has a base B and the altitude of the triangle is twice the base, then the area
of the triangle is

a) AB b) % B?
c) B® d) 2B?

14) 1/3 +2/7 = X/42, when X is,

a) 13/21 b) 13

c) 21 ' d) 26
15) The next number is the arithmetic progression 5,11,17,............ 1S

~a) 23 , b) 18

c) 22 d) 28

16) Ifthe angles of a triangle are in the ratio 1 : 2 : 2, then the triangle is

a) Isosceles b) Obtuse
c) Right angle d) Equilateral

®



17) If the two sides of a right angle triangle adjacent to the right angle have lengths(n - 1,
and 2/h, then the length of the side of the triangle opposite the right angle is :

a) (n-1) b)y4m~

———

¢) (n+1) d)/n”+ 1

18) Which of the following numbers is the largest

/ ]

) U . ; B U RS
a) (.05 ) (©-5) Z
c) ' d)5

O+5

19) It takes 50 workers 4 hours to dig a sewer. How long would it take 30 workers to dig
the same sewer.

a) Two hours 20 minutes b) 5 hrs 12 minutes
c) 6 hrs 12 minutes d) 6 hrs 40 minutes

20) If X=Y =2Z and X.Y.Z = 256, then X equals

a) 2 b) 4
c) 6 _ ~d)8
Q.3] Answer the following (3 Marks)

1) Who is the President of India -
2) Where is Taj Mahal situated - ,
3) What is the Colour of Fire brigade -
4) Where is Nehru Planatorium -
5) Where is Howrah Bridge situated -
6) What is the Colour of Airforce uniform -

Q.4] Expand the following abbreviations. | (3 Marks)

1) M. A

2) M. T.N. L
3) IPL

4) TIFR

5) MCA

6) B. Ed



What is the business of following organisations. (2 Marks)

‘f) Mazagon Dock
2y DHL

3) Tech Mahindra
4) Godrej and Boyee

Q.6] Write the molecular formula of (2 marks

1) Benzene

2) Chloroform

3) Nitric acid

4) Potassium permanganate
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'SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNGLOGY
ENTRANCE EXAM

DATE : 26/06/13 TIME : 11.00AM TO 12.00 NOON  MARKS : 50
Q.1] Complete the following, | ’ 20 Marks]

1) An exothermic reaction is

2) Molality is

3) Boiling Paint of a liquid is

4) Disinfectants are

5) A reversible Process is

6) Soluti\dn is defined as

7) Dissociation is

8) Galvanisation is

(D



9) Buffer Solution is

10) Neutralisationis

0.2] Circle your choicea, b, c,ord -  [20 Marks]
1) If an acid is diluted ,
a) pH increases : b) pH decreases
¢) no change occurs | d) can vary depending on the acid
2) When NaCl is added to water,
| a) Freeziﬁg Point is raised b) boiling paint is depressed

¢) freezing point does not change d) boiling point is raised

3) During rusting of iron it gets,
. a) Oxidised b) reduced

b) Oxidised and hydrated d) hydrated

4) If the hydrogen ion concentration of an acid is decreased ten tines, its pH will be,
a) Increased by one b) decreased by one
¢) - remains uncharged . d) increased by ten

5) Fat and oils are the trirsters of glycerol with
a) Amino acid ’ b) fatty acid.

¢) mineral acids | ~d) Glucose

6) Formalin is an aqueous solutions of
a) Methyl Formate - b) formic acid

¢) Formaldehyde _ d) Potassium formate

@)



oL - 3
7) What is the ratio of 2/3 to 5/4

a) 1/4 " - g) 10/1é
¢) 8/15 d) 2/7
8) What is the next number in the geometric progression 4 , 12,36 .9
by 44 by 60
c) 72 ) : d) 108
9 If “%+Y = x/15 ,then X is
a) 10 | b) 11.25
c) 12' d) 13.75
10) If the area of a square increases by 44 % then the side of the square increases by,
a) 12% - b) 20 %
o) 24% o d)30 %

11) If the two-sides of a right angle triangle adjacent to the right angle have lengths (n-1) and
-2 Jn , then the length of the side of the triangle opposite the right angle is

a) (n-1) ' b) 4

¢) (1) o

12) If the radius of a sphere is increased by a factor of 2, then the volume of the éphere is
increased by a factor of
a) 2 b) 4
c) 6 < d) 8
13) - If 25 men can unload a truck in 1 hour and 30 minutes, how long would it take 15 men
to unload the truck
a) 2 hours ‘ | b) 2 Y hours
c) 2 1/3 hours d) 2 % hours
14) The area of a triangle with base S is equal to the area of a square with side S then the
altitude of the triangle is :
a) %2 S b) S

b) 28 | 02
(3)



Q3]

15) If the altitude of a triangle increasessby 5 % and the base of the triangle increases by 77
by what percentage will the area of the triangle increase

e

33 % by 06 %

a)

¢y 12% dy12.35%

16} If the ratio of radii of two circles 18 3 10 2 then the ratio of the areas of the two circles
18

a) 2t03 ; b)4109
c) 9tod d) 3t02

17) The product of 3 consecutive integers is 120, then the sum of the integers is,
a) 12 , b) 14
c) 15 d) 18

18) It takes 3 tons of copper ore and 5 tons of iron ore to make one ton of alloy A How
many tons of alloy A can be made from 60 tons of copper ore and 90 tons of iron ore,

a) 18 b) 20
c) 30 d) 50
19) The product of two numbers is ¥, then the sum of the two numbers is,
a) 4 1/3 by 4 23
b) 4 5[¢ )5 1fg
th
20) An angle of X degrees has the property that, its complement is equal to_1 _of its.
supplement, where X is, 3
a) 45 C b)) 60
c) 63 d)y 72
Expand the following abbreviations. | o " [3 Marks]
1) UGDPAT
2) BCA
3) MSc
4) DNA
5) WHO
6) IPL

“4)



Q4

Q.0]

Where are the following situated.
1) The Taj Mahal

2y Howrah Bridge

3y Vrindavan Gerdens

4) Nehru Planatorium

What is the business of the following organizations.

1) Flipkart

2) Akzo Nobel

3) LIC of India

4) Godrej and Boyee Ltd.

Write the Molecular Formula bf
1) Sulphuric acid

2) Potassium Dichromate

3) Sodium Chloride

4) Nitric acid

5) Ferric Phosphate

6) Hydrogen Peroxide
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DPAT

SEAT NO. : .

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNOLOGY

SECOND ROUND
ENTRANCE EXAM

DATE : 15-Jul-2013 TIME : 11.00 AM TO 12.00 NOON MARKS : 50
Q.1] Complete the fOHowing.! . | [20]

1

3)

4)

5)

6)

7)

Normality is defined as

Thermodynamics 1s

Endothermic reaction is

‘p OH s

Electrolysis is

Atomic mass member is

Antacid is




Q2]

&) Viscosity is

9y Specific gravity means

10) Isothermal process is

Circle the right answer.

1] If pH of a solution is Zero, the solutions is, |

A) Strong acid
C) Netral A
2] Brass coﬁsists of
A) Znand Cu
-C) Cu, Snand Zn
3] A Buffer Solution has always
A) pH=7
C) A definite pH

B) avery weak acid

D) a base

B) Znand Sn
D) Zn,Niand Sn

B) pH=9

- D) Equal number of H+ and OH - ions.

4] The number of neutrons in the nuclear of an atom is represented by

A) A-Z
C) A

B) Z-A
D) Z

5] Chloromyecetin is effective in the treatment of

A) Cholera
C) Tuberculosis-

6] Formic acid is obtained frém
A) Vinegar
C) Butter )

71 Solution of Phenol is used as
A) An antibiotic
C) An Antioxidant

B) Typhoid

- D) Malaria

B) Red ants
D) Oil : -

B) an analgesic

D) A disinfectant




pH+p OH 18

A) T | B) 0

C) 10 Dy 14
91 0.03 times 0.05 1s

A) 15 % B) 1.5%

Cy 0.15% Dy 0.015%
0] IfX* -Y* =15 and X+ Y =3 then X - Y is "
A) 3 B) 0

C) 5 D) Cannot be determined
1] IfX=Y=2Zand X .Y .Z=256, thenX equals

A) 2 | B) 4

C) 6 | | D) 8

12] The addition of a positive number with its reciprocal number is twice of their
difference, the number is

A) | B )

C) D)
13] The side of a square increases by 40%, then the area of the square increases by
A) 16% | ' B) 40%
. C) 96% D) 116%

14} If the number of two digits is reversed it becomes 18 greater than the number,
Find the number, if, the sum of the digits is equal to 4, '

A)31 : B) 22
c13 | ‘D)4o

15] The sum of 5 consecutive integers is 35, How many of these consecutive
integers are prime numbers

A0 | ‘B_)z
3 | o D) 4

16] If it takes 50 workers 4 hours to dig a sewer, how long would it take 30 workers
To dig the same sewer

A) 2 hours 24 rhinutes , _ B) 5hours 12 minutes
C) 6 houfs 12 minutes - D) 6 hours 40 minutes



I7] "The ratio of the area of two squares is 2: 1, then the ratio of the perimeter of the
squares is

A 1:2 By 1:2
Cy 21 Dy 21

18] Successive discount of 20% and 15%are equal to a single discount of

A)30% B) 32%
C) 34% —_— o D)35%
19] The next number in the geometric progression 5, 10, 20,... ... Is
A) 25 : B) 30
C)35 - D) 40
20] 2/5+ 1/3=X/30 , where X is
A)4 ’ B) 11
C) 16 D) 22
Q3] Expand the following abbreviations. S o [03]
1] B.Com - | |
2] MBA -
3] BHMS-
4] UNO-
5] WHO -
6] IAS-
Q.4]  What is the business of the following orgénization. ' S [02]

1] LARSEN AND TOUBRO -
2] KANSAINEROLAC - _
3] ASHOK LEYLAND -
4] DHL - |

Q.5] What is_the atomic number of , [02]
* 17 Oxygen -
2] Catbon- - o |

3] Sulphér - 7

4] Sodium -




Lo} Write the molecular formula of

W(Eite,[ - L — S

sodium Carbonate -

%;)

Phosphoric acid -

otassium Permanganate -

Hydrochloric acid

Methyl Alcohol -

S
e
A
o

e

%

e

P

S

FS

o=

e

S

e

e

S
-
'S

&

%

e

e

o

P

e

Py

P

e

P

P

s

-

S

Pa
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SEATNO.:
UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNOLOGY
ENTRANCE EXAM

DATE : 27-Jun-12 TIME ¢ 11.00AM TO 12.60 NOON  MARKS: 50
Q.1 Complete the following. : : - : 20
1. An isothermal PIOCESS IS .. ... oo e e

.................................................................................................................................



Q.2] Circle your choice a,b,c or d : 20
1) Rate of reaction depends on
a) concentration of the reactants b) temperature c) catalyst
d) all the above

2) If the pH value of a solution is zero. The solutions is

a) a strong acid ‘ b) a very weak acid c¢) neutral d) a base

3) Bronze consists of

a) Zn and Cu b) Zn and Sn ¢) Cu, Sn and Zn d) Zn, Ni and Sn.

4) The pOH value of a solution is 4, its hydrogen ion concentration will be

a) 10 b) 10710 ¢) 1010 d) 104

AN



5) When a solution contains equal concentration of hydrogen ions and hydroxyl ions, its pH will
be around. ‘
a) 14 b) 10 c)7 ‘ Ao

O x+y=4 and x~vy=73, them (x+ 2y ) is,
aj0.5 by 3.5 cy4 dy4.s

7y A tank contains 10 gallons of water, If a pumr fzmks(ﬁw - jminutes to purnp | gallon of
E [ Y L IS I 5

water out of the tank, how many minute it will take 0 for the pum to empty the tank.
: | y t he pump pty A

a) X b) 15-10x ¢) 150-10x d) 150 - x
X

8) If the ratio of the areas of two squares is 2:1, then the ratio of the perimeters of the
squares is

a) 12 b) 1: V2 c) V2:1 d) 2:1

9) If 15 men working independently and at the same rate can manufacture 27 baskets in an hour,
how many baskets would 45men working independently and at the same rate manufacture
in 40 minutes?

a) 27 b) 35 c) 54 d) 81.
100If X =3 ,then9y’equals.
y Z
a) _)_(E b) X’z c) x*2? d) 3%
9 , _ ,
11) The next number in the geometric progression 5, 10,20 ......... is
a) 25 b) 30 c) 35 d) 40

12) Successive discounts of 20% and 15% are equal to a single discount of

a)30% b) 32% ¢)34% d) 35%
13)If X =Y =27 and x.y.z = 108, then x equals. _

a) 3 b) 32 c) 6 d) 2\2
14) If the area of a square increases by 69% then the side of the square increases by

a) 13% b) 30% ¢)39% d) 69%
15) 2+ 1 =X , whereXis

5 -3 30 :

a) 4 b) 11 c) 16 d) 22

16) A number is as much greater than 17 as it is less than 57, find the number
a) 36 b) 37 c) 40 d) 44

1'7) If the number of two digits is reversed it becomes 18 greater than the number,
find the number if the sum of the digits is equal to 4.
a)3l - o b) 22 : “ ey 13 - d)40

®



Q.3

Q4

Q.5

18) If the product of two numbers is 10 and the sum of the two numbers is 7, then the larger of the
two numbers is

a)-2 by 2 )3 dy 5

19) If the lengths of the two sides of right angle triangle adjacent to the right angle are 8xm and
15cm respectively, then the length of the side apposite the right angle is
ay 15.8cm by 16 cm ¢y em dy 17.9cm

20) The sum of 5 consecutive mtegjm is 35. How many of these comeuxtwe mtcgms
are prime numbers. : :

a) 0 b) 2 )3 d) 4
Expand the abbreviations given below. 3
1. GICED
2. UNO
3. WHO
4. B.Com
5. IAS
6. MBA
What is the businesses of the following organizations 2

1. KANSAI NEROLAC

2. BLUE DART

3. LARSEN AND TOUBRO

4.  ASHOK LEYLAND

What is the atomic number of C )

1. Oxygen
2. Carbon

3. Sulphur

4. Sodium




Q.6 Write the molecular formula of 3

1. Sulphuric acid

b

Potassium Permanganate

3. Calcium Phosphate
4. Aluminium Sulphate

5. Phosphoric acid

6. Sodium Carbonate
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Seat no.:~

i}’%i?ﬁ%i?‘i OF MUMBAIL
CGARWARE INST ITUTE OF CAREER EDUCATION & DEV ?/LG?“\& ENY
o BE?LO%% IN PAINT APPLICATION ’?Léﬁ"i(}};{}{}&

EN fRANC? EXAM »
DATE : ié/{)?fzi@};i : ’X.‘EM}E : 1AM TO 12 PM, MARKS :50
21 g (,omplctc e following: S | s : (201

1) fX solution is defined as

2} Boiling point i3

3y Thermodynamics is

Y} An endothrmic reaction is

e




5y Neutralisation is

6) pOH is defined ag

7) Buffer solution is

8) Atomic number is

9} Galvanisation is a process

i




BRHY

ige b i - . . 73433
Answer the following an ni ciele your choice. e

i} Which of the following is not a thermodynamic property.
2} Time b) Temperature -+ ¢} Pressure . 4 Volume

ifan acid is diluted. -
a) pHincreases .~ . b) pHdecreases o) No change occurs d) Canvary
d@ppﬁdmg upon the acid -

8
Nongiee”

35 A bu‘*ar solution hac always, ,
ay pH=7 b) pH=9 o) adefinite pH 4} Bgual number of H+ and
OH ~ions

4) 1Ifthe pH value of a solution is zero the solution is.
a) a strong acid . by avery Weakvacid : ¢} Neutral - &) abase

'5) The number of wutronc in the nuckeus of an atom is reprue&teé bv

@) AL YA e) A id) z
6} . Brass consists of . o : L :
a) Znand Cy b} Znand 8n <)y Cu, Snand Zo &) Zn, Niand Sp .
7y Formic acid is obtained from . R
ay Vinegar by Rg:d;antsv © ¢) Bufter d) Gl
8} Chloromycetin is erfu,nve in th& freatment of ; ,
a) Cholera b) "ivphmd ) Tuberculosis  d) Malaria
9 Solution of phenol i3 used as _
a) anantibiotic b) an analgesic ©) anantioxidant  d) a disinfectant
16) pH +pOH is, S Ay
) 7 b)Zeo <) 10 d} 14 \\

11) If the length of a rcctmgie is mcrmsed bx« 20‘/% wd tnemgﬁm is decreased by ’?(}%

‘then the arca .
~a) Decreases by 20% S ) Decreaszes by 4%
b) Remains the same d) Increases by 10%

123 0.03 times 0.05 is :
ay 15% b) 1.5% - ¢ 0.15% d) 0.013%

vreas of Pwo squares is 201 then the miio o, the cmrzw*b of the snuares
€as 01 ] 4 :

&} 12 by ijZ L)ﬁz @2
&) 150 ) 65‘2 c} 15 & 15




jor
M)
i)

16)IE the side of a square increases by 4‘}"’6 thenthe area of the ﬂc;t,{aie increases by
a} 6% by 40% o) 96% - d) wlé 6
17 The f}f&d&bi of 2 numbers i3 5-and one of the mimbers 18372, then ﬂ‘e sum of the twe

it HHQLN L,,
8 4% B 4273 o) 4

/' &1 5L

/6 dy 8146

B

18 Ifthe area of a1z mgaic with base s, is equal 1o t‘i‘}»« ;z 2 of a square of side s, then the
altitude of the triangle is

a) s b s ¢ 3s 'C’z}“.‘fsv
19) What iz the ratioof 2/3 to 5/4 L :
a) Y% oy /12 - ¢) 8 15 40 27

‘z”xmnd me' féliowmg abbreviations. I : o I _ 23
i} IPL
2y DPAT

IV

20} The addition of a positive ‘\:mber with its Jecszo cal :s twice of their difference, the

“nutnber 15 »~
: a)ﬁ b) }/fm ’ c}_f?;\“ | ﬁ)%

3) M. Sc

4) UNO

What is the business of the following organisations. 4 B : 2]
1) Kansat Nerolae N ‘ .
23 DHL

3) Godrej and Boyee

43 Marutl Suzuki

Give the manes of

Prime E’/Ezm ster of India

o
Sorer?

23 Union Home Mmlsm

33 Union Finance Minister

43 Chief Minister of ; faharashira




e

e
Spveont

2N What 3 the atomic number of

1y Hydrogen

2y Oxygen

3) Nitrogen

4} | ﬁrtﬁh

VI Write the molecular formula of o | 21

1) Nitric acid

2) Potassium Dichromate

: 3y Methy! alcohol

4y }’hospi}oric acid

k**sécmi»k»mk*«x*mmkw»xx*axmwwww»maw«m#sskwymk**sc*mxxx&&xx*«**xxamxx»r&»w«xawv




DPAT

Seat no.:-

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN PAINT APPLICATION TECHNOLOGY

- ENTRANCE EXAM
DATE : 16/07/2010 TIME : 11 AM. TO 12 PM. MARKS :50
Note: Answer all Question.
Q.1] Define the following: (20)

1) pHis

ii)  Viscosity is

ii1)  Density is

iv)  Neutralisation reaction means

v)  Buffer solution is

vi)  Normality means

vii) lonisation is

viil) Thermodynamics means

ix)  Galvanisation is

x)  An Exothermic reaction is

Q.2] Circle the right answer: ‘ ' ' (10)
1) If an acid is diluted — ‘ _ '
a) pH increases
b) pH decreases
¢) No change occurs
d) Can vary depending on acid.

i1) If ph value of a solution is zero, the solution is:
a) Strong acid
b) "A very weak acid
¢) Neutral
d) A base



Q.3]

iii) In an electrochemical cell oxidation occurs on :

a) Negative electrode
b) Positive electrode
¢) Reference electrode
d) None of these.

iv) The area of a circle of radius 10 cms is

a) 348 cm’ b) 384 cm”
¢) 314 cm’ d) 444 cm?

v) 167°F is equal to :

a) 85°c  b) 67°¢
c) 75°¢c d) 92°%¢

vi) Brass consists of :

a) Zn & Cu b) Zn & Sn
c) Cu,Sn& Zn d) Zn,Ni & Sn.

vii)  The Speed of a chemical reaction increases with
a) increase in temperature b) decrease in temperature
c¢) increase in concentration d) None of these.
viil) A number is as much greater than 17 as it is less than 57. Find the number
a) 36 b) 37
c) 40 d) 44.
ix)  3/4™ of a number is equal to 4/3rd of another number , what is the ratio between
them
a) 7:12 b) 9:16
c) 16:12 d) 6:8.
x)  If the number of two digits is reversed it becomes 18 greater than the
number, find the number,if the sum of the digits is equal to 4.
- a)3l1 b)22 ¢ 13 d) 40 -
Answer the following: (5)

i) Who is the president of India _

i) Which is the capital of Maharashtra




Q.4]

Q.5]

Q.6]

i) Who is the Chief Minister of Maharashtra

iv) Who is the Union Finance Minister

v) Where is Tajmahal situated

What is the standard colour for:

i) Fire Brigade

iy Ambulance

iii) Army Vehicle

iv) Road marking paints

v) Air force uniform

Expand the following abbreviations:

i) IAS

(3)

ii) B.Sc

iii) MA

iv) DPAT

v) MBA

vi) UNO

What is the business of the following companies:

i) Tata Motors

)

ii) LIC of India

iif) Mazagaon docks

iv) DHL : e -




Q.7]

Q.8]

i) Oxygen

What is the atomic number of

1) Hydrogen

iti) Carbon

iv) Sodium

Write the molecular formula for :

i) Sulphuric acid

example sodium hydroxide is NaOH

3)

ii) Phosphoric acid

iii) Potassium Dichomate

iv) Ethyl alcohol

v) Potassium Permanganate

vi) Hydrochloric acid
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